12@1202 (K12a1202)

/7/N/\“’ Linearized knot diagam
r\élls)w 4 11 6 1 8 3 10 5 12 7 2 9
1k .

3 A9

/ Solving Sequence
6
7,10% »3711» — — — — — — Cy4,Cg,C
A knot diagranﬂ cr 8010 Co 201112 6 6 s 4 a 1 P 5 P 9 —> C4,C8,C12

Ideals for irreducible component#ﬂ)f Xpar

I'=0+u, at+u—1, u®—3u" +8u’ — 11u° + 12u* — Tu® + 2u? + 1)

Iy = (b+u,
5ut? 4+ 8ul? 4+ 37ult 4 36ut® + 87u® 4 50u® + 68u” + 14u’ — 24u° — 10u* — 31u® + 14u® + 4a + 31u + 8,
u + 2u® 4 8u'? + 10ut + 2000 4 16u° + 17u® + 6u” — 4u® — 6u® — Tut + 6u? + 4u + 1)

I = (2u® + 3u'? + 14u 4+ 130 + 306 + 1748 + 160" + 4uS — 20u® — 4u? — 14u3 + 3u® 4 4b + 12u + 5,
2ut® + 3u'? + 14utt + 13wt + 300 4+ 17u® + 160" + 4u® — 20u® — 4u* — 14u® + 3u? + 4a + 12u + 1,
w4 20" + 8u'? + 10ut 4 2000 + 16w + 17u® + 6u” — 4u® — 6u® — Tut 4 6u® + 4u + 1)

I} = (150778247696u"® — 1269915907352u'? + - - - + 29523131488 — 694243865440,

— 45565437328u'® + 456270050744u'? + - - - + 59046262976a + 429363368096,
16u'* — 152u'® 4 - - — 384w + 64)

IF=0+u, atut+1, ud+u” +4u’ +u’ +4u* —u® 4+ 20 +1)

IV = (—4u'"a — 67u'" + - —4a+ 48, u'"a + 35u'” 4 - + 14a — 83, u'® +3u'" + - —Bu 4 1)

IY = (—uPa® +uPa® + -+ a+2, —u’a® +ua® +---—b—a,
wa? +uda® +u® —uwla—ut —vPa+bu—au—ut—b+u+1,

ua? + 2uta® + u® —uta — v’ + a®u? — wla + ut — ula — 2ud — au +u® + 1)

* 6 irreducible components of dim¢ = 0, with total 94 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

1
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* 1 irreducible components of dim¢ = 1

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIr=({b+u, at+u—1, u®—3u” 4 8u® — 11u® + 12u* — Tu® + 2u? 4 1)

(i) Arc colorings

0
aio = \u
1
ag = —u?
—u+1
a3— —Uu
U
a1 = \u
w—u+1
a2: u27u
ud —u? +2u
a12: ug_u2+u
w—u+1
ag = U2
—ud +u? —2u+1
a4 = —ud —u
—u" 4+ 2u8 — 55Ut +5ut =5t +3ut —u+1
ap = —u 4w =3 Fut -2t +u—u
ut —ud 4+ 3u? —u+1
a5 = \ —ub 4+ u® — 2ut + u?
u’ —2u8 + 5u’® — dut + 4B
ag = \u” —2ub + 4u® — 3u* + 2u3 + u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —3u” + 3u’ — 6u® — 6u* + 12u® — 15u> + Ju



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C4,C5

Cg,C9, C12

w® =30+ 8u8 — 11w’ + 120 — TP + 202 + 1

C2,C3,Cq

C7,C10,C11

w4+ 30"+ 8ub + 11u® + 120t + T + 202 + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C:65:C6 18 L7y T 4 9240 43315 + 24yt + 159° + 28y° + 4y + 1
C7,C8,C9

€10, C11, C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = 0.802481 4 0.5079211
a= 0.197519 — 0.5079211
b = —0.802481 — 0.5079211

9.81664 — 1.801531

6.98214 — 1.708841

u = 0.802481 — 0.5079211
a= 0.197519 + 0.5079211
b = —0.802481 + 0.5079211

9.81664 + 1.801531

6.98214 4 1.708841

uw=0.36074 + 1.409471
a= 0.63926 — 1.409471
b= —0.36074 — 1.409471

—9.81664 + 1.801531

—6.98214 + 1.708841

uw= 0.36074 —1.409471
a= 0.63926 + 1.409471
b= —0.36074 + 1.409471

—9.81664 — 1.801531

—6.98214 — 1.708841

u = —0.252888 4 0.3650771

a= 1.252890 — 0.3650771 —1.137651 0.+ 6.267661
b= 0.252888 — 0.3650771
u = —0.252888 — 0.3650771
a= 1.252890 + 0.3650771 1.137651 0. —6.267661
b= 0.252888 + 0.3650771

u= 0.58967 4 1.519171

a= 0.41033 — 1.519171 18.04871 0. — 8.389081

b= —0.58967 — 1.519171

uw= 0.58967 — 1.519171

0.41033 + 1.519171 — 18.04871 0.+ 8.389081

b= —0.58967 + 1.519171




II. I = (b+u, 5u® +8u'?+.-. +4a+8, u'* +2u'3 4+ ... +4u+1)

(i) Arc colorings

a10=<
1
ag = _u2
.
fiu“ —oul? 4+ ?jTlu -2
a3: —u
an(
<—2u13 §u12+--~—%u—g
o= \ 1,13 1 12 ¢ T
2 s U+ U3
( uld 4 3ul? 4 4 5y 42
o=\ 3,13, 1 12 31 3
12 W~ tguT ot gut g
1,13 _ 3,12 a1
U Ju”+ 3u I
a6— u2
3,13 _ 5,12, _ 19, 5
U U+ 2 U35
a4 = —ud —u
(—;uu Lyt —4u—%
a; = _3,,3_ 3,12 . _ 17, 3
1 U u“ + 17U — 3
<—%u13 u'? + %u — %
ar = 1,13 _ 3,12 _ _ I
5 QU quT+ 1
ul 4 30?4 4 3u+ 3
Qo = 1,13 _“1 12 3

(ii) Obstruction class = —1

(iii) Cusp Shapes = Zu!3 + Gly12 4 5Ly 11 4 137,10 4 12839 4 1758 4 1957 +

2
5,6 79,5 87,4 38T 3 2 |, 411 39
Ju 5 U 5 U U + 27Tu +5u+5



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,C9 u14+2u13_~_.“+4u+1
C12
Ca,C11 16(16u™ + 152u'® + - - - + 384u + 64)
€3, 6, €7 ul —2ut 4 —du 1
€10
cs, C8 16(16u* — 152u® 4 - .- — 384u + 64)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4
Cg, C7,C9 y14+12y13+—4y+1
€10, C12
2,65, €8 256(256y'* + 736y'* + - - - + 22528y + 4096)
‘11




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.735177 + 0.2435981
= —0.31889 — 1.708391
= —0.735177 — 0.2435981

8.49202 — 7.105071

5.55614 + 2.562501

= 0.735177 — 0.2435981
= —0.31889 + 1.708391
= —0.735177 + 0.2435981

8.49202 + 7.105071

5.55614 — 2.562501

= 0.330527 + 1.2211901
= 0.11627 — 2.33392]
= —0.330527 — 1.2211901

5.35568 4 10.947501

1.20768 — 7.192131

= 0.330527 — 1.2211901
= 0.11627 4 2.333921
= —0.330527 + 1.2211901

5.35568 — 10.947501

1.20768 + 7.192131

—0.104132 4 1.2853701
0.14969 — 1.953861
= 0.104132 — 1.2853701

—4.77245 — 2.598791

—6.95245 + 3.739211

—0.104132 — 1.2853701
= 0.14969 + 1.953861
= 0.104132 + 1.2853701

—4.77245 + 2.598791

—6.95245 — 3.739211

= —0.672210 4+ 0.1601281
= —0.586673 + 0.7040361
= 0.672210 — 0.1601281

4.77245 — 2.598791

6.95245 4 3.739211

= —0.672210 — 0.1601281
= —0.586673 — 0.7040361
= 0.672210 + 0.1601281

4.77245 + 2.598791

6.95245 — 3.739211

u = —0.44398 + 1.438841
a = —0.70423 — 1.584911
b= 0.44398 — 1.43884]

—5.35568 — 10.947501

—1.20768 + 7.192131

u = —0.44398 — 1.438841
a = —0.70423 + 1.584911
b= 0.44398 + 1.438841

—5.35568 4 10.947501

—1.20768 — 7.192131
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Solutions to I3 V—1(vol+ v/—1CS) Cusp shape
u = —0.362798 + 0.3145161
a= 1.21504 — 0.983131 —1.123781 0.+ 6.091781
b= 0.362798 — 0.3145161
u = —0.362798 — 0.3145161
a= 121504+ 0.983137 1.123781 0. —6.091781

b= 10.362798 + 0.3145161

u = —0.48258 + 1.508791
a = —0.37121 — 1.498941
b= 0.48258 — 1.508791

—8.49202 — 7.105071

—5.55614 + 2.562501

u = —0.48258 — 1.508791
a = —0.37121 4 1.498941
b= 0.48258 + 1.508791

—8.49202 + 7.105071

—5.55614 — 2.562501
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I11.
I¥ = (2u'3+3u'?+- - - +4b+5, 2u®+3u'?+- - -+4a+1, vw'*+2u3+- - -+4u+1)

(i) Arc colorings

g O
~—

—0.812500u'® — 1.54688u'? + - - - — 4.25000u — 0.984375
—0.0625000u'? — 0.234375u'2 + - - - + 0.750000u + 0.0781250

0.421875u!® + 1.03125u'? + - - - + 2.23438u + 1.18750 )

aio = (
1
ag = —u?
1,13 3 12 1
—1 4+ ... —3u—1
(T g)
as (_2u13 12+“._3U‘_Z
u
ail = \u
1,13 3 12 1
—Lu 4+ —3u—13
S (o SV PR )
Ful® + %u” 4+ Hu +12
a9 = iu13+%12+ Jr%qu
3,,13 21,12 17
—su? — =Zu - —du— 3¢
as = (—%um — £u12 4= 2u — ig)
4 16 16
a; = (0 60937513 4 1.65625u'2 + - - - + 3.17188u + 0.937500
5 29
(G
a5 = \ qub®+ qgul’ 4 — ju— g5
—0.687500u'® — 1.12500u'2 + - - - — 3.43750u — 0.750000
a9: _T’%ul?) gl2+.._%u_%
(ii) Obstruction class = —1

(111) CUSp Shapes _ 71U13+ 61 12+ 51811 11+ 137 1[)+ 1283 9+ 175 8+125’LL +

%UG_%UE) 827u4 8§ 3+27u +£u+—

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,C5 u14+2u13_~_.“+4u+1
Cs
€2, C7,C10 wt— 2B 4y
C11
€3, Co 16(16u* + 152u'® + - - - + 384u + 64)
Co, C12 16(16u* — 152u® 4 - .- — 384u + 64)

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
Cs, C7,C8 y14+12y13+—4y+1
€10, C11
3,6, 256(256y'* + 736y'* + - - - + 22528y + 4096)
C12

14



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.735177 + 0.2435981
= 0.337138 + 0.9754781
= —0.662862 + 0.9754781

8.49202 — 7.105071

5.55614 + 2.562501

= 0.735177 — 0.2435981
= 0.337138 — 0.9754781
= —0.662862 — 0.9754781

8.49202 + 7.105071

5.55614 — 2.562501

= 0.330527 + 1.2211901
= —0.506537 — 0.1778351
= —1.50654 — 0.177831

5.35568 4 10.947501

1.20768 — 7.192131

= 0.330527 — 1.2211901
= —0.506537 + 0.1778351
= —1.50654 + 0.177831

5.35568 — 10.947501

1.20768 + 7.192131

—0.104132 4 1.2853701
0.145481 — 0.1281741
= —0.854519 — 0.1281741

—4.77245 — 2.598791

—6.95245 + 3.739211

—0.104132 — 1.2853701
= 0.145481 +0.1281741
= —0.854519 + 0.1281741

—4.77245 + 2.598791

—6.95245 — 3.739211

= —0.672210 + 0.1601281
= 0.292144 + 0.7824831
= —0.707856 + 0.7824831

4.77245 — 2.598791

6.95245 4 3.739211

= —0.672210 — 0.1601281
= 0.292144 — 0.7824831
= —0.707856 — 0.7824831

4.77245 + 2.598791

6.95245 — 3.739211

u = —0.44398 + 1.438841
a= 0.28005 + 1.587241
b= —0.71995 + 1.587241

—5.35568 — 10.947501

—1.20768 + 7.192131

u = —0.44398 — 1.438841
a= 0.28005 — 1.587241
b= —0.71995 — 1.587241

—5.35568 4 10.947501

—1.20768 — 7.192131

15



Solutions to I3 vV—=1(vol + /=1CS) Cusp shape
u = —0.362798 + 0.3145161
a= 1.098900 — 0.5106171 —1.123781 0.+ 6.091781
b= 0.098902 — 0.5106171
u = —0.362798 — 0.3145161
a = 1.098900 + 0.5106171 1.123781 0. —6.091781

b= 10.098902 + 0.5106171

u = —0.48258 + 1.508791
a= 0.60282 4 1.292941
b= —0.397177 + 1.2929401

—8.49202 — 7.105071

—5.55614 + 2.562501

u = —0.48258 — 1.508791
a= 0.60282 — 1.292941
b= —0.397177 — 1.2929401

—8.49202 + 7.105071

—5.55614 — 2.562501

16



IV. I} = (1.51 x 101u!® —
1011
9

1011, 16ul4 —

(i) Arc colorings
1

az

aio = )

0.771690u'® —
5.10712u*® + 43.0143u!? + -

-

o

-
-
(627509u —53.7103u"~ + -
ol

.

g

<

g

7.72733ut? + -

0.396272u13 — 2.96866u'2 + -

0.433597u'® + 3.07351u'? + -
—1.39433u!? + 13.2245u'? + -

1.98473u!3 + 17.4606u'2 + -

ag = 1.02400u13 + 7.30966u12 + -
6.45812u' + 53.4349u12 + -
as = \ 5.19125u!'3 — 46.5395u'2 + -
2.29549u!3 — 18.6841u'? + -
a1 = \1.93780u’® — 17.1761u'? + -
3.03039u® + 26.1775u12 + -
as = \ 0.216231u'3 — 3.35036u!2 + -

0.379426u'® —
ag =

1.27 x 1012412 4 ...
—4.56 x 101913 + 4.56 x 1011412 4 ..
152u8 + ...

2.77238u'? + - - -
—0.177226u'3 + 1.36624u'? + - - - —

+ 2.95 x 101% — 6.94 X
-4+ 5.90 x 10% + 4.29 x
— 384u + 64)

-+ 36.3451u — 7.27164
— 110.305u + 23.5153

-4 135.401u — 27.7001
— 11.2489u + 3.08676

-+ 9.75173u — 3.28454
—39.2531u + 7.93893

- — 37.1706u + 8.38054
-+ 11.8341u — 3.84294

- —113.519u + 23.9546
-4 130.406u — 26.1690

-4 22.4712u — 3.09596
-+ 35.1477u — 7.07687

- —50.8615u + 10.1149
-+ 36.8578u — 8.71066

— 1.09120u + 0.400513
8.94746u + 1.81095

(ii) Obstruction class = —1

(iii) Cusp Shapes
— 22071118306,/13 _ 205737218319 12 |

4 620526036416
922597859 922597859

922597859

_ 129937751014
922597859

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4 16(16u'* — 152u' 4 - - — 384u + 64)
€2, 3, C6 ut —2ul o —du 1
C11
C5,C8, C9 w2 4yl
C12
c1,C10 16(16u™ + 152u'® + - - - + 384u + 64)

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €4, ¢ 256(256y"* + 736y + - - - + 22528y + 4096)
€10
C2,C3,Cs
Cg,C8, C9 y14+12y13+_4y+1
C11,C12

19



Solutions to Ij

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u= 0.707856 + 0.7824831
a= 0.132280 + 0.5307651
b= 10.672210 + 0.1601281

4.77245 + 2.598791

6.95245 — 3.739211

u= 0.707856 — 0.7824831
a= 0.132280 — 0.5307651
b= 0.672210 — 0.1601287

4.77245 — 2.598791

6.95245 + 3.739211

u = 0.854519 4 0.1281741
a= 0.205611 + 0.2036111
b= 0.104132 — 1.2853707

—4.77245 — 2.598791

—6.95245 + 3.739211

u = 0.854519 — 0.1281741
a= 0.205611 — 0.2036111
b= 10.104132 + 1.2853701

—4.77245 + 2.598791

—6.95245 — 3.739211

u= 0.662862 + 0.9754781
a = —0.555661 — 0.3880741
b= —0.735177 4 0.2435981

8.49202 + 7.105071

5.55614 — 2.562501

u= 0.662862 — 0.975478]
a = —0.555661 + 0.3880741
b= —0.735177 — 0.2435981

8.49202 — 7.105071

5.55614 + 2.562501

u= 0.397177 4+ 1.2929401
a = —0.68850 + 1.522291
b= 0.48258 + 1.508791

—8.49202 + 7.105071

—5.55614 — 2.562501

uw= 0397177 — 1.2929401
a = —0.68850 — 1.522291
b= 0.48258 — 1.508791

—8.49202 — 7.105071

—5.55614 + 2.562501

u = —0.098902 + 0.5106171

a= 1.089120 + 0.2553091 — 1.123781 0.+ 6.091781
b= 10.362798 — 0.3145161

u = —0.098902 — 0.5106171

a= 1.089120 — 0.2553091 1.123781 0. —6.091781

b= 10.362798 + 0.3145161

20



Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 1.50654 4 0.177831
—0.019777 — 0.4472771
—0.330527 — 1.2211901

5.35568 4 10.947501

1.20768 — 7.192131

1.50654 — 0.177831
= —0.019777 + 0.4472771
—0.330527 4 1.2211901

5.35568 — 10.947501

1.20768 + 7.192131

0.71995 + 1.587241
—0.413070 4 1.3298201
0.44398 + 1.438841

—5.35568 4 10.947501

—1.20768 — 7.192131

0.71995 — 1.587241
—0.413070 — 1.3298201
0.44398 — 1.438841

u
a
b
u
a
b
u
a
b
u
a
b

—5.35568 — 10.947501

—1.20768 + 7.192131
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V.IP=(b+u, at+u+1, ud+u” +4ub + u® + 4u* — u® 4 2u? + 1)

(i) Arc colorings

3

U —u

—ud —u? —2u—1
aq =

7 6

—u" —2u8 —5uS —But =5t — 3t —u—1
—u" — b =3 —ut =20t —u—u

W+ ud+3u+u+1
—ub —ub — 2ut + u?

( u” + 2u8 + 5ud + dut + 4B )
ag =

u” 4+ 2u8 + 4ud + 3ut 4+ 203 +u

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u” — 3u’ + 6u® — 18u* + 6u> — 21u? + 9u — 6

22



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C2,Cs5

Ce6,C9, C10

W+ 4 — W At P+ 20+ 1

C3,C4,C7

Cg8,C11,C12

W+ b At — P+ 20+ 1

23



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
CrC5:C6 | 08 L 7yT 4 2296 4 3745 + 36y* + 23y% + 12y% + dy + 1
C7,C8, Co

€10, C11, C12

24



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape

u = —0.200786 + 1.2041207
a = —0.79921 — 1.204121 —1.616561 —60.10 + 1.3064261
b= 0.200786 — 1.2041201
u = —0.200786 — 1.2041201

= —0.79921 + 1.204121 1.616561 —60.10 — 1.3064261
b= 0.200786 + 1.2041207
u= 0.537476 + 0.5105101
a = —1.53748 — 0.510511 7.30226 + 8.493341 1.28328 — 6.263251

b= —0.537476 — 0.5105101

u= 0.537476 — 0.5105101
a = —1.53748 + 0.510511
—0.537476 + 0.5105101

7.30226 — 8.493341

1.28328 + 6.263251

—0.327893 4+ 0.6460461
—0.672107 — 0.6460461
0.327893 — 0.646046.1

— 2.719551

0.4 9.226611

—0.327893 — 0.6460461
= —0.672107 + 0.6460461
= 0.327893 + 0.6460461

b
U
a
b
U
a
b

2.719551

0. —9.226611

u = —0.50880 + 1.437951
a = —0.49120 — 1.437951
b= 0.50880 — 1.437951

—7.30226 — 8.493341

—1.28328 + 6.263251

u = —0.50880 — 1.437951
a = —0.49120 + 1.437951
b= 0.50880 4 1.437951

—7.30226 + 8.493341

—1.28328 — 6.263251

25



VL I} = (—4u'"a — 67u'" + .- — 4a + 48, u'"a + 35u'” + .- + 14a —
83, u® +3ul" + ... —5u+1)

(i) Arc colorings

o= )

0
aio = \u
1
u
a
0.0434783au'” 4+ 0.728261u!7 + - - - +0.0434783a — 0.521739
u
u
—0.0434783au'™ + 0.521739u'7 + - - - 4+ 0.956522a + 0.271739
Zu17+145 16 4 .. +14*9“*i
—0.206522au'” — 1.52174u7 + - - - 4+ 0.793478a + 5.47826
0.521739au'™ + 0.489130u'7 + - - - 4+ 0.271739a + 0.739130
0.271739au'” — 3.01087u!7 + - - - — 0.728261a + 6.73913
ag = \0.271739au'” — 2.01087u'7 + - - - — 0.728261a — 1.01087
0.304348au'” + 0.347826u'” + - - - 4 3.05435a — 0.652174
ag = 0.902174au'” — 3.07609u'7 + - - - + 1.65217a + 3.42391
2.19565au'” 4+ 2.90217u!7 + - - - — 0.304348a — 14.3478
a1 = \2.11957au'” + 2.56522u'7 + - - - 4+ 0.119565a + 1.06522
0.815217au'™ — 2.53261u'" + - - - — 0.934783a + 5.21739
as = \0.978261au'” — 1.48913u'7 + .. — 0.771739a — 0.739130
0.554348au'™ + 0.597826u'7 + - - - — 0.695652a — 17.1522
ag = —ﬁu”a 5 w4+ 420+ %u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u!'” — 11u!¢ — 33u!® — 66u'* — 122u!3 — 187u!? — 278u!! —
350u'® — 429u° — 473u® — 45607 — 42118 — 311u° — 184u* — 100u® — 6u? — u + 3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq,C
L4, 55 (u'® +3u'” 4+ — Bu+1)?
Cg, Cg, C12
C2,C3,C
2:53:76 (u'® —3u'” + -+ Bu+ 1)?
€7, €10, C11
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4,Cs,Cq (y18+11y17+...+5y+1)2
C7,C8,C9

€10, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/=1C8S) Cusp shape
u = —1.033350 + 0.2730297
a = —0.433707 — 0.3700471 — 5.693021 0.4 5.510571
b= 0.201212 — 1.3322107
u = —1.033350 + 0.2730291
a = 0.1070220 + 0.01060061 — 5.693021 0.4 5.510571
b= —0.393396 + 1.167600.1
u = —1.033350 — 0.2730291
a = —0.433707 + 0.3700471 5.693021 0. —5.510571
b= 0.201212 4 1.3322107
u = —1.033350 — 0.2730291
a= 0.1070220 — 0.01060061 5.693021 0. —5.510571

b= —0.393396 — 1.1676001

u = —0.142014 + 1.1060701
a= 0.071587 — 0.7037151
b= 1.15680 — 0.884781

—1.89061 — 0.924301

—3.71672 + 0.794231

u = —0.142014 4 1.1060701
a= 0.96521 + 2.153901
b= 10.046149 + 1.2260401

—1.89061 — 0.924301

—3.71672 + 0.794231

u = —0.142014 — 1.1060701
a= 0.071587 4 0.7037151
b= 1.15680 + 0.884781

—1.89061 + 0.924301

—3.71672 — 0.794231

u = —0.142014 — 1.1060701
a= 0.96521 — 2.153907
b= 0.046149 — 1.2260407

—1.89061 + 0.924301

—3.71672 — 0.794231

u = —0.273973 + 1.1358901
a= 0.470175 — 0.7323501
b= —0.137537 + 0.1383921

1.89061 — 0.924301

3.71672 + 0.794231

u = —0.273973 + 1.1358901
a = —0.965306 — 1.0155107
b= —0.822569 — 0.9288521

1.89061 — 0.924301

3.71672 + 0.794231

29



Solutions to I§

V=1(vol + v=1CS)

Cusp shape

u = —0.273973 — 1.1358901
a= 0.470175+ 0.7323501
b= —0.137537 — 0.1383921

1.89061 + 0.924307

3.71672 — 0.794231

u = —0.273973 — 1.1358901
a = —0.965306 + 1.0155101
b = —0.822569 + 0.9288521

1.89061 + 0.924307

3.71672 — 0.794231

u = —0.046149 + 1.2260401
a= 0.260286 + 1.0343501
b= 1.15680 + 0.884781

—1.89061 + 0.924301

—3.71672 — 0.794231

u = —0.046149 + 1.2260401
a = —0.54315 4 2.075391
b= 0.142014 + 1.1060701

—1.89061 + 0.924301

—3.71672 — 0.794231

u = —0.046149 — 1.2260401
a= 0.260286 — 1.0343501
b= 1.15680 — 0.884781

—1.89061 — 0.924301

—3.71672 + 0.794231

u = —0.046149 — 1.2260401
a = —0.54315 — 2.075391
b= 0.142014 — 1.1060701

—1.89061 — 0.924301

—3.71672 + 0.794231

u=0.393396 + 1.1676001

a = —0.0434586 + 0.08255321

b= 1.033350 + 0.2730291

5.693021

0. —5.510571

u= 0.393396 + 1.1676001
a = —0.27658 4 2.056251
b= 0.201212 + 1.3322101

5.693021

0. —5.510571

u= 0.393396 — 1.1676001

a = —0.0434586 — 0.08255321

b= 1.033350 — 0.2730291

— 5.693021

0.+ 5.510571

u= 0.393396 — 1.1676001
a = —0.27658 — 2.056251
b= 0.201212 — 1.3322107

— 5.693021

0.+ 5.510571
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Solutions to I§

V=1(vol + v=1C)

Cusp shape

u= 0.822569 + 0.9288521
a= 0.401451 + 0.9106661
b= —0.137537 + 0.1383921

1.89061 — 0.924301

3.71672 + 0.794231

u= 0.822569 + 0.9288521
a= 0.263961 — 1.2928301
b= 10.273973 — 1.1358901

1.89061 — 0.924301

3.71672 + 0.794231

u= 0.822569 — 0.9288521
a= 0.401451 — 0.9106661
b= —0.137537 — 0.1383921

1.89061 + 0.924301

3.71672 — 0.794231

u= 0.822569 — 0.9288521
a= 0.263961 + 1.2928301
b= 0.273973 + 1.1358901

1.89061 + 0.924301

3.71672 — 0.794231

u = —0.201212 + 1.3322101

a= 0.132851 —0.4323171 — 5.693021 0.+ 5.510571
b= 1.033350 —0.2730291

u = —0.201212 4 1.3322101

a = —0.07848 4+ 1.895701 — 5.693021 0.+ 5.510571
b= —0.393396 + 1.1676001

u = —0.201212 — 1.3322101

a= 0.132851 + 0.4323171 5.693021 0. —5.510571
b= 1.033350 + 0.2730291

u = —0.201212 — 1.3322101

a = —0.07848 — 1.895701 5.693021 0. —5.510571

b= —0.393396 — 1.1676001

u = —1.15680 + 0.884781
a= 0.584996 + 0.6820301
b= 10.046149 + 1.2260401

—1.89061 — 0.924301

—3.71672 + 0.794231

u = —1.15680 + 0.884781
a = —0.344252 — 0.4181381
b= 0.142014 — 1.1060707

—1.89061 — 0.924301

—3.71672 + 0.794231
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Solutions to I

V=1 (vol + y/=1CS)

Cusp shape

= —1.15680 — 0.884781
= 0.584996 — 0.6820301
0.046149 — 1.2260401

—1.89061 + 0.924301

—3.71672 — 0.794231

—1.15680 — 0.884781
= —0.344252 + 0.4181381
= 0.142014 + 1.1060701

—1.89061 + 0.924301

—3.71672 — 0.794231

0.137537 + 0.1383921
= —0.13089 — 5.210231
0.273973 + 1.1358901

1.89061 + 0.924301

3.71672 — 0.794231

0.137537 + 0.1383921
—5.94172 — 2.178961
—0.822569 + 0.9288521

1.89061 + 0.924301

3.71672 — 0.794231

0.137537 — 0.1383921
= —0.13089 + 5.210231
0.273973 — 1.1358901

1.89061 — 0.924301

3.71672 + 0.794231

0.137537 — 0.1383921
= —5.94172 4+ 2.178961

U
a
b
U
a
b
U
a
b=
U
a
b
U
a
b
U
a
b = —0.822569 — 0.9288521

1.89061 — 0.924301

3.71672 + 0.794231
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VIL 1%

u® + -

(i) Arc colorings

(—u®a® + uBa? + -

.—b—a, u?a® +

c4+a+2, —u a3+u5a2—|—
—b+1, uba? +ub +--- —au+1)

0
a10 = \u
1
ag = u
U
U
wPa? — u*a? 4 ula? Jru —a2u27u a— 2ut + ud — u? —b+a+2u
az = u5a2—ua +uda® +u® — a?u? —wlPa — 2ut + uP —u? + 2u
a?+ut 4+ —b-1
a2 = %5a3+;ua —|—~--—éa—1
Lubad® — LuPa? + -+ La+1
e = i53 %52 .,._%
6 su’a + sa—1
1,54 1,53 1,2
su’a u’a’ +---—35a°+ 34
I i +.,,_%a2_%a)
2 — U 2
—Lybat wdad + - - —|— a—l
? i‘
a1 = —§u5a4+4 Sad + - a—l
1,5.3 3,52 3
su’a’ — su’a’ + - +§b+2a
as = \ iuba® —Iuta®+ - —la—1
%u5a3+%u5a2+~- —&—%b—%a
ag = wad +2uPa? + - —b+2u

(ii) Obstruction class =1

(iii) Cusp Shapes =0

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I¥* | /=1(vol + /=1CS) | Cusp shape
u T e e e
a=--- 0 0
h=-..
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Crossings

VIII. u-Polynomials

u-Polynomials at each crossing

C1,Cs,Cy

16(u® — 3u” + 8u® — 11u® + 12u* — 7u® + 2u? +1)
(= u" 20 4 ) (e 2t 4 du 1)
S (16uM — 15203 4 - - — 384w + 64) (u'® + 3u'T + - - — 5u + 1)?

C2,C6, C10

16(u® — u” + 4ub — u® + du* + 0 + 2u* + 1)

C(u® 4 3u” 4 8ul 4 110 + 120 + Tud + 2u? + 1)

(M =20t 4 = du+ 1)H) (166 1520t 4 - - -+ 384u + 64)
S(u® = 3u + - 4 bu+1)?

C3,C7,C11

16(u® +u” + 4uS + o + 4u* —u® + 2u? +1)

(u® A+ 3u” 4 8ul + 11w’ + 120t + TP + 20 + 1)

(M =20t 4= du+ 1)H) (166 1520t 4 - -+ 384u + 64)
S(u'® = 3u 4 4 bu+1)?

Cy4,Cg,C12

16(u® — 3u” + 8u’® — 11w’ + 12u* — 7u® + 2u® + 1)
W u" 20 4 D) (e 2 4 4+ 1)
S(16uM — 15201 4 - - — 384w + 64) (u'® 4+ 3u'T + -+ — 5u + 1)?
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IX. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1,62,6 1 956(y® 4 Ty" + 22y + 33y° + 24y* + 15¢° + 28y + 4y + 1)
€4, 65, Co (y® 4 Ty" 4+ 22¢° + 3790 4 36yt 4 23y 4+ 1297 + 4y + 1)
C7,Cg,C9 .(y14+12y13+~~~74y+1)2

(256 + 736y + - - - + 22528y + 4096)
Sy 11y - By 4 1)

€10, C11, C12
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